Bitspower®

Water Tank Z-Multi Compact

« f%%ﬁﬁﬂ i &
D M4z M4x5.548 %
@ M4x1082#4 ® RE#MmEH
@ KEX B 5 NHER
@ EA= @™ ZHE
® OME(FLER) ®@ OEE(ILKER)
® BP-C17 ® lEKE
@ BEhE B 55 H#E#R (LOGOBEIZI)

& IR - BKE - FREERMASHERERERNUEL - £FFER - ERKRIBERT -
ET24/0\RREKAE - ERERKELEEREN  BRBERKMEREMSHAIEIER -

< Installation Guide Accessories
@ Nuts for M4 Screw M4 x 5.5 mm Screw
@ ® M4 x 10 mm Screw (® Stainless Anti-Cyclone Plate
(® Tank Clamp For Water Tank Z Series Acrylic Anti-Cyclone Card
(® Z-Cap(One Hole) @) Z-Cap(Two Hole)
® O-Ring For Cap @ O-Ring For Stop Fitting
® BP-C17 ® Stop Fitting
@ Z-Tube Acrylic Anti-Cyclone Card(turn LoGo)

& Before fill in water,please make sure all the component be installed
avoidingleaking happen and destroy the PC component.

< ZIiHAA B
® MagRE M4x5.548 4
® M4x10884 ©® FEMESH
® KER [E7= O #tR
@ BUE @ —“AE
® ORE(FEH) ® OBE(LLKER)
® BP-C17 © IEKE
@ BRAE ER= R (LOGORZ)

& ER - KA BEWAFMASHERREERMUEL - EATEN - BFKRBBERT -
HIT24/0ERREKINE - MARTRKEREETEN - BRRERKMSBREMSHERIRIE -

V1/5%—hR



